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	Fall 2000


Homework #9 Solutions
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Closed-loop poles are in REP if 0<K<1 (unstable), and are the imaginary axis for K > 1
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a. No: Not symmetric; On real axis to left of an even number of poles and zeros
b. Yes
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e. No: Not symmetric; Not on real axis to lett of odd number of poles and/or zeros
f. Yes
g- No: Not symmetric; real axis segment is not to the left of an odd number of poles
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An Additional Example: Sketching the Root Locus and Computing the Angle of Departure
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MATLAB root locus plots:

Problem. 4.

» rlocus([1 0 1],[1 3 2])
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»

Problem 5.

» rlocus([1 0 1],[1 0 -1])
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»

Problem 6.

» num=[1 1];

» den=conv([1 0],conv([1 2],conv([1 3],[1 4])))

den =

     1     9    26    24     0
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» rlocus(num,den)
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